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Section 1: Multiple Choice Questions (70 marks, 3.5 marks for each question. Please select
the best answer.)

1. In which of the following organizations would agency problems be /east likely to occur?
(A} A sole proprietorship.
{B) A partnership.
(C) A corporation.
{D} A closely held corporation.

2. Which of the following financial intermediaries has shown a preference for investing in
long-term financial assets?
(A} Commercial banks.
(B) Insurance companies.
(C) Finance companies.
(D} Savings banks.

3. Which of the following is least liquid?
(A) Foreign currency.
(B} U.S.Treasury bonds.
{C} Rare coins.
{D) Savings deposit.

4. Which of the following statements is true fof a corporation with $1 million market value of
equity, $2 million market value of assets, and 1,000 shares of outstanding stock?
(A) Market value of liabilities exceeds book value of liabilities.
(B) Market value of liabilities equals $1 million.
(C) Book value per share equals $1,000.
(D) Market value per share equals $2,000.

5. Approximately how long must one wait (to the nearest year) for an initial investment of $1,000
to double in value if the investment earns 4% compounded annually?
(A) 10 vyears
(B} 14 years
{C) 18 years
(D) 22 vyears

6. How much more would you be willing to pay today for an investment offering $10,000 four
years from today rather than five years from today? Your discount rate is 9%.
{A) $544.47
(B) $584.94
(C) $622.18
(D) $651.29
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7. A bond paying annual coupons at a coupon rate of 6% experiences a change in price of 6%
when interest rates suddenly decrease by 1%. A similar bond of the same maturity, in the
same risk class, paying annual coupons at a coupon rate of 4% will experience a change in
price of:

{A) Lessthan 6%.

(B} Exactly 6%.

{C} More than 6%.

(D} More information is needed to determine the answer.

8. Company DEF pays out all of its earnings as dividends. It will pay its next $12 per share
dividend in a year. The discount rate is 12%. Let the price-earnings ratio for the company be X,
Which of the following statements about X is correct?

{A} X<10
{B) 10sX<12
{C} 12sX<15
(D) X=15

9. Which of the following statements is true?

(A) For many firms the limits on capital funds are "soft.” By this we mean that the capital
rationing is not imposed by investors. '

(B) Sunk costs influence capital budgeting decisions only when the sunk costs exceed future
cash inflows.

(C) Opportunity costs are evaluated for investment decisions at their historical {that is, book)
cost.

(D) Discounting real cash flows with real interest rates gives an overly optimistic idea of a
project's value. '

10. Company PQR is installing a machine system in its factory. The system has a cost of $350,000,
has an eight year useful life, requires $120,000 in pretax annual operating costs, and will have
a salvage value of $50,000. Assume the system is depreciated using straight-line depreciation
for tax purposes. At the end of the system’s useful life, Company PQR will need to replace the
system. The company’s tax rate is 30% and the appropriate cost of capital is 10%. The
equivalent annual cost, in dollars, of Company PQR using this system is closest to:
(A) $100,000
(B) $120,000
{C) $140,000
(D} $160,000

11. U.S. investments with a one-year maturity can earn 6% and Swiss one-year investments can
earn 3%. If the spot exchange rate is CHF1.6/S, which of the following one-year forward
exchange rates would convince you to invest in Switzerland?

(A) CHF1.55/$
(B) CHF1.60/S
(C) CHF1.65/$
(D} CHF1.70/$
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12. Of the following four put options that can be purchased on a stock, which would you expect
to have the highest price?
{A) September 2014 put; $65 exercise price
(B) September 2014 put; $75 exercise price
(C) December 2014 put; 565 exercise price
(D) December 2014 put; $75 exercise price

13. How much will a firm receive in net funding from a firm commitment underwriting of 250,000
shares priced to the public at $40 per share if a 10% underwriting spread has been added to
the price paid by the underwriter? Additionally, the firm pays $600,000 in legal fees.

(A) $8,400,000
(B} $8,460,000
(C) 58,490,000
(D) $8,545,455

14. When securities are issued under a rights issue;
(A) Existing shareholders have the opportunity to expand their holdings.
(B} Shares are offered to the public at a discount.
(C} The existing shares will increase in price.
(D) Current shareholders have the right to resell their stock to the issuer.

15. The "winner's curse" is a reminder that:
(A) Successful bidders may often overpay for an object.
(B) WUnderwriters charge excessive fees.
(C) Stocks are much riskier than bonds,
(D) Underpricing an issue is a cost to existing owners.

16. With a tax rate of 35%, calculate the WACC for a firm that pays 10% on its debt, requires an
18% rate of return on its equity, and finances 45% of assets with debt.
(A) 12.83%
(B) 14.00%
(C} 14.40%
(D} 18.20%

17. An investor owns 5,000 shares, which is 1% of a corporation's outstanding stock before a
stock repurchase. The investor did not sell any of his stock during the 25,000 share
repurchase. Which of the following statements is correct?

(A) The investor still owns 1% of the corporation.

(B) The stock’s price is likely to drop by 5%.

(C) The investor owns more than 1% of the corporation.
(D) The investor now has 5,250 shares.
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18. Which of the following might indicate the correct choice of a plug-in figure (balancing item) if
a financial plan shows sources of funds to be $100,000 and uses of funds to be $90,000?
{A) External debt increases by $10,000.
(B} Dividend payment decreases by $10,000.
(C) Cash balance increases by $10,000.
(D) The capital budget decreases by $10,000.

19. A credit card account that charges interest at the rate of 1.25% per month would have an
annually compounded rate of and an APR of
(A) 16.08%; 15.00%
(B) 14.55%; 16.08%
(C} 12.68%; 15.00%
(D) 15.00%; 14.55%

20. What is the expected yield on the market portfolio at a time when Treasury bills yield 6% and
a stock with a beta of 1.4 is expected to yield 18%?
{A) 8.6%

(B} 10.8%

(C) 12.0%

(D} 14.6%

Section 2: Problems (30 marks. Show your work for full credit and for part marks.}

1. (This question is worth 7 marks in total.) Consider the following vields-to-maturity (YTMs) on
Company XYZ’'s bonds you observe today, all of which have a face value of $1000, a coupon
rate of 7% paid on an annual basis and have just paid out their annual coupons:

Maturity (years) 2 5 8

YTM 8% 7% 6%

a) Suppose you purchase today, from the table above, Company XYZ’s bond that has 8 years
remaining to maturity. Exactly one year later, the yield to maturity on the bond you own
has risen to 9%. If you sell the bond exactly one year after purchasing the bond today, what
will be your total rate of return over the one year period?

b) Some of the bonds that Company XYZ has issued are callable—the bonds have a call option
embedded in them. Describe under what conditions and by whom the call option would be
exercised.

2. (This question is worth 9 marks in total.) Company ABC has just completed a $150 miliion
dividend payment to its shareholders. The company makes dividend payments once per year,
and its dividends are expected to grow at a rate of 5% per year for each of the next 3 years.
After the 3 years, the company will be operating in a declining industry, and management
expects it will have to reduce dividends by a rate of 7% per year indefinitely/forever. The
company has 25 million shares outstanding, and investors require a 9% return on ABC’s stock.

a) What is the expected dividend per share the company will pay out one year from today?
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b) What is the company’s share price today?

¢) You're not sure you wish to invest in Company ABC, and in fact you haven’t even decided
if you generally wish to invest in stock or bonds. Discuss the advantages and
disadvantages of investing in common shares versus bonds.

3. (This question is worth 8 marks in total.}
a) Discuss how betas are measured for individual stocks.

b) How can a manager calculate the opportunity cost of capital for a project?

A. (This question is worth 6 marks in total.) Discuss what it means for a futures contract to be
"marked to market." Please provide an example assuming that a 5,000 bushel wheat contract
at a price of $3.90 per bushel is purchased. In your example, assume that the price of wheat
moves to $3.92 at the end of the next day, and moves to $3.89 at the end of the following

day.

Future Value of 1
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5. 196003 /12,48
Present Value of an Ordinary Annuity of 51




